Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 8 - Johnstone South and Elderslie

5,538

4

1,108

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John CALDWELL		495
Jacqueline CAMERON	Scottish National Party (SNP)	1,392
John HOOD	Scottish Labour Party	1,448
Alistair MACKAY	Scottish Conservative and Unionist	962
Andy STEEL	Scottish National Party (SNP)	644
Megan TAIT	Scottish Green Party	153
Thomas Dempster WALLACE	Scottish Labour Party	444
	Total	5,538

Candidate Jacqueline CAMERON Elected with 1,392 votes, being in excess of the quota of 1,108 Candidate John HOOD Elected with 1,448 votes, being in excess of the quota of 1,108

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of John HOOD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CALDWELL	76	0.23480	17.84480
Transfer to Jacqueline CAMERON	0	0.00000	0.00000
Transfer to John HOOD	0	0.00000	0.00000
Transfer to Alistair MACKAY	71	0.23480	16.67080
Transfer to Andy STEEL	67	0.23480	15.73160
Transfer to Megan TAIT	38	0.23480	8.92240
Transfer to Thomas Dempster WALLACE	1,017	0.23480	238.79160
Value of non-transferable ballot papers			42.03880
	Total		340.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Jacqueline CAMERON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CALDWELL	27	0.20402	5.50854
Transfer to Jacqueline CAMERON	0	0.00000	0.00000
Transfer to John HOOD	0	0.00000	0.00000
Transfer to Alistair MACKAY	18	0.20402	3.67236
Transfer to Andy STEEL	1,214	0.20402	247.68028
Transfer to Megan TAIT	49	0.20402	9.99698
Transfer to Thomas Dempster WALLACE	22	0.20402	4.48844
Value of non-transferable ballot papers			12.65340
	Total		284.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Megan TAIT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CALDWELL	2	0.20402	0.40804
Transfer to John CALDWELL	4	0.23480	0.93920
Transfer to John CALDWELL	23	1.00000	23.00000
Transfer to Jacqueline CAMERON	0	0.00000	0.00000
Transfer to John HOOD	0	0.00000	0.00000
Transfer to Alistair MACKAY	2	0.20402	0.40804
Transfer to Alistair MACKAY	13	1.00000	13.00000
Transfer to Andy STEEL	27	0.20402	5.50854
Transfer to Andy STEEL	2	0.23480	0.46960
Transfer to Andy STEEL	60	1.00000	60.00000
Transfer to Thomas Dempster WALLACE	4	0.20402	0.81608
Transfer to Thomas Dempster WALLACE	20	0.23480	4.69600
Transfer to Thomas Dempster WALLACE	34	1.00000	34.00000
Value of non-transferable ballot papers			28.67388
	Total		171.91938

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of John CALDWELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jacqueline CAMERON	0	0.00000	0.00000
Transfer to John HOOD	0	0.00000	0.00000
Transfer to Alistair MACKAY	3	0.20402	0.61206
Transfer to Alistair MACKAY	9	0.23480	2.11320
Transfer to Alistair MACKAY	153	1.00000	153.00000
Transfer to Andy STEEL	17	0.20402	3.46834
Transfer to Andy STEEL	6	0.23480	1.40880
Transfer to Andy STEEL	74	1.00000	74.00000
Transfer to Megan TAIT	0	0.00000	0.00000
Transfer to Thomas Dempster WALLACE	3	0.20402	0.61206
Transfer to Thomas Dempster WALLACE	36	0.23480	8.45280
Transfer to Thomas Dempster WALLACE	132	1.00000	132.00000
Value of non-transferable ballot papers			167.03332
	Total		542.70058

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Alistair MACKAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CALDWELL	0	0.00000	0.00000
Transfer to Jacqueline CAMERON	0	0.00000	0.00000
Transfer to John HOOD	0	0.00000	0.00000
Transfer to Alistair MACKAY	0	0.00000	0.00000
Transfer to Andy STEEL	12	0.00770	0.09240
Transfer to Andy STEEL	7	0.00886	0.06202
Transfer to Andy STEEL	54	0.03775	2.03850
Transfer to Megan TAIT	0	0.00000	0.00000
Transfer to Thomas Dempster WALLACE	1	0.00770	0.00770
Transfer to Thomas Dempster WALLACE	51	0.00886	0.45186
Transfer to Thomas Dempster WALLACE	391	0.03775	14.76025
Value of non-transferable ballot papers			26.06373
	Total		43.47646

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Thomas Dempster WALLACE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CALDWELL	0	0.00000	0.00000
Transfer to Jacqueline CAMERON	0	0.00000	0.00000
Transfer to John HOOD	0	0.00000	0.00000
Transfer to Alistair MACKAY	0	0.00000	0.00000
Transfer to Andy STEEL	1	0.00770	0.00770
Transfer to Andy STEEL	10	0.00886	0.08860
Transfer to Andy STEEL	79	0.03775	2.98225
Transfer to Andy STEEL	15	0.20402	3.06030
Transfer to Andy STEEL	177	0.23480	41.55960
Transfer to Andy STEEL	133	1.00000	133.00000
Transfer to Megan TAIT	0	0.00000	0.00000
Value of non-transferable ballot papers			702.37834
	Total		883.07679